WALT: To add and subtract whole numbers with more than 4 digits, including using formal written methods
WILF:
1. Layout the addition calculation ensuring:
· the biggest number first
· place value is accurate
2. Begin by adding the ones column
3. Repeat with all the other columns
4. If a column adds up to over 10/100/1000, carry underneath
Enjoy playing these games 
https://www.topmarks.co.uk/maths-games/daily10
https://www.bbc.co.uk/games/embed/guardians-mathematica
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Fluency 
1. 3545 + 2314=
2. 5467 + 1294=
3. 7351 + 1034=
4. 7463 +3466=
Challenging
1. 7351 + 1034=
2. 7463 +3466=
3. 12543 + 4563=
4. 24300 + 3268=
5. 34563 + 23837=
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Missing Digits 
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Which boxes can we complete? How?
Which boxes can we NOT complete yet? Why?
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- Start by adding the
2435 + ones. 5+2 =7

1432 Repeat for the other
— columns
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6a. True or False?

65,218 + 2,703 = 68,921

& .

7a. Using the column method, solve the
number sentences below.

59,216 + 3,987 =

44,058 + 26,110 =
& .

8a. Complete the bar models below.

?
a) _

39,422 15,801

20,696 75,422

b)
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4a. Savannah says,

Last year, I eared
£28,568 and received

a bonus of £7,764.

Oscar saus,

Last year, I eamed
£26,679 and received

a bonus of £3,865.

Who made the most money last year?

hig

5a. Add the missing place value
counters to make this calculation

correct.
0o00s 10005 0s 105 i
e .

6a. Jaiden completes the sum
incorrectly

Explain the mistake he has made.

N .
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The numbers in each row, column and diagonal must sum to 34.
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* On the Run

‘Decide who willbe the Cop' and who will b the ‘Robber. Place your counter on th stating poin on the board. Taking
turns, move our counteron the board, answering the question you land on. 1 the answer i incorrect, move your counter
back to the previous postion. 1f the ‘Cop’captures the Robber” by landing on the same hexagon as the Robber’ then the
“Cop’ s If the ‘Robber’ manages t reach the opposite e of the board without being captured, the Robber’ wins.

PN

586 + 2094 | 4964 - 3144 | 535+ 209 | 4955 + 2952 [ 4952 - 1934

‘Cop’ Starting Point

9853 - 2956 | 4925 + 2950 | 9258 - 2985 | 9598 + 598

4928 + 2985 | 2985- 582 | 9838 - 5828 | 9825 + 5982 | 4985 - 2384

4858 + 284 | 4387 - 2848 | 3805 - 1382 | 4985 - 2655

2985 + 598 [ 5982 + 1049 | 2985 + 2985 | 9093 + 4898

- 498 | 5983 - 3889 | 5194 + 1309 [ 4982 - 3482

8375 - 1984 | 498 + 2985 [ 9683 + 9825 | 2385 - 958

583+ 3093 | 7983 - 2985 [ 4982 + 2098 | 4645 - 3239

. . ‘Robber’ Starting Point
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Is the biggest number

1. 1432 + 2435=

Place value is
2435 +
1432 ~ accurate




